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+ INCREASING NUMBER O0F "CP-NEGATIVE"
EXPERIMENTAL RESULTS
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HEANY |1ON COLLISIONS
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EXQLusiony PLOTS IN PARAMETERS OF CP-PARAM
FOR A GIVEN REACTION / RESULTS



EXQUSION PLOTS IN PARAMETERS OF CP-PARAM
FOR A GIVEN REACTION/ RESULTS

= ToOoL TO0 QUANTIFY /COMPARE SIGNIFICANCF Of
‘CP- NEGATIVE" RESULTS FBR TME CPR-SEARCH

FOR EXAMPLE T SHOULD ALLOW TO ANKER
THE QUESTION S
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A FIRST EXAMPLE  FROM TORIASZ ((NAC(/SHINE) SLIDES

CP~ PARAIM CP-PARAM VS DATA EXCLUSION PLOT FOR
M= 2 PAP‘AHETERS OF CP'PAR&H
AND THE DATA

Simple power-law model

Comparison with simple power-law model E
E... —— 0-20% Ar+Sc at 150 GeVc
Bl model: ¢, = 0.00, corr./all = 0.0%
A simple model that generates momentum of X/ndf=7.49/9 0-20% Ar+Sc at 150 GeVc
: : : p-value = 0.586
particles for a given number of events with a el = .
given multiplicity distribution. ' g
-PARA
It has two main parameters: < CP .1 g
= F-Wc:
® ratio of correlated to uncorrelated particles, 2.
DATA X
® power-law exponent. i | | o
' 0 500 1000 ;
M2 L
Uncorrelated particles (background) %
-
pe(pT) = p1 - € T = g
Eq —— 0-20% Ar+Sc at 150 GeVc (o}
e Model: = 0.65, corr./all = 1.0%
Correlated pairs (signal) 2.0 .
x2/ndf = 85.51/9
ps(PT,1,PT,2) = pB(PT,1) - fB(PT,Z) 1 p-value = 0.000
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4. WOULD RE GREAT TO HAVE SEVERAL 'STANDARD'

AND TEST SENSI(TIVITY OF DIFFERENT RESULTS
TO C°¢

2. THEN SELECT THE MOs7T SENSITINE MEASURMENTS

AND CALCULATE EXCLUSON RPLOTS FoR PARAMETERS
PF <CP-PARAMS AND REACTION S



